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355 ml @ 1200 mg MgOH/15 ml (suspension)

355/15 =   23.67  * 1.20 gm =  28.4 gm  for  $4.00  (14c/gm)
1000 gm for  28.96  (2.9c/gm),  (2    500  gm for 20.96 (4.2c/gm),  250 gm for 13.96 (5.6c/gm)
3 TBSP of MgOH (1200 mg) in 1 liter carbonated water, diluted by 1/12 (1/3 liter in 3 2/3 (11/3) liter water. 
Water has 125 mg Mg and 625 mg HCO3 per liter

MgHCO3 water is 50% absorbed, 12x the absorption of MgO2
  1 liter @ 50% absorption   = (5 x 500)/12 mg MgO2
1200 MgHCO3 contains 500 mg, 3 TBSP contains 1500 mg/liter /12 =  125 mg/liter (absorb 63 mg)

3 TBSP = 45 ml / 12 = 3.75 ml in 1 liter = ¾ tsp in 1 liter

Max is 15 ml in 12 oz (x 29.57 ml/oz) =         500 mg, absorb 250 mg

1.5 tsp in 12 oz = 167* 1.5 mg, absorb 126 mg  

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


